AP & A A

mu: EEeAH| (554D
&l: J1=3H| (el &)
SA - B SRI(E) - NIRAY - BES 0l st o HIDEY
sS40 36,516,935 29,228,105 7,288,830
= 8,678,949
Xl 6,183,000
J| 2,356,637
= 3,222,388
s 16,075,961
Y 2IAH(sF4) 52,088 50,308 1,780
Jl=&l 39,520 37,740 1,780
Jl=&H] 39,520 37,740 1,780
201 Zer2gH| 26,560 24,780 1,780
01 AtR-2teld] 22,560 20,820 1,740
OgBt=2H] 17,100
0.7I2AM2ESHI 100,000 #2621 2,600
0.AFRD101 & SAMES 13,000,000 13,000
0.7|Et==ZH| 1,500,000& 1,500
OZEl(sEMTYLER)
7,000 %2621x302 5,460
02 2324 4,000 3,960 40
O332=2 € HA 4,000
0 RER= S 4,000,000 4,000
202 Oid| 12,960 12,960 0
01 2LHOAYI 12,960 12,960 0
Oozeloidl(382l) 180,000 +6E &+ 123 12,960
QIHA2 | 12,568 12,568 0
SSEA/AL C124H| 12,568 12,568 0
301 et2as 12,568 12,568 0
N JIEtEA= 12,568 12,568 0
OSAL A=A =& 12,568
0.AIZRIZ2R4E 6, 1823 *101+40AI 2t 128 2,968
0.2E2RSL(LS) 50,000 12!x122 600
0.24¥98sdd=2 600,000 *1Q1+12& 7,200
0.S=gRAA=E 150,000 x 12+ 12& 1,800
HYXXN2H (sS4 11,420 9,460 1,960
FHEXZS 11,420 9,460 1,960
IE2AE ] 11,420 9,460 1,960
203 HRFZ&H| 11,420 9,460 1,960
01 J|22dPRF8| 3,300 3,300 0
O sIIsMEHAE(52) 3,300,000 3,300
02 HRIHHRFAHI 1,920 1,960 A0
O FAIRIAR=EY| 40,0003 »48H 1,920
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S A
K| ZH -
(=

&l

0
T
]
0

S - BB () - HRAY - BaES

=
12

Sl

[yl

ol &k

0

HIWES

2,000,000

350,000& 122

2,000

2,000
4,200

4,200

4,200

2,000

M

118,200

53,856
23,305
41,039

144,000

/25,800

HH

118,200

53,856
23,305
41,039

144,000

25,800

U

6,000

1,763
4,237

12,000

26,000

307 2I12+0I1A

M

6,000

1,763
4,237

12,000

26,000

6,000,000& 1

M

6,000

6,000

1,763
4,237

12,000

26,000

M

112,200

53,856
21,542
36,802

132,000

19,800

M

112,200

53,856
21,542
36,802

132,000

19,800

=
e
OsHEESUASEEISSEXR

85 +12&+110,000&

M

112,200

112,200
53,856
21,542
36,802

132,000

19,800

hl

Jo
=
0N
!

o
o
02
re
0%

HHnXY Ay

15,594,209

7,138,375
668,000
67,524
646,076
7,074,234

12,734,764

2,859,445

= H

S

H

4,502,008

75,726
668,000
29,424
208,003

3,316,009

1,185,999

@
2
|




N sS4t
Y SE=TISE U Aok
CHol: SOQIASEN U MEOIEXY (=L
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
o 3,520,855
STEANMY SEAIY F& 41,990 68,290 A26,300
201 L2 | 17,340 13,340 4,000
01 At22teld| 12,840 11,840 1,000
Ogt==H| 4,720
0. SAQLHA L AIRIHE A
1,200&*1,00004 1,200
0.4& B2 M 1,200&*300F+22] 720
0.3t&8X & SHEEHE P& 90,000+ 123 1,080
0.3t&a MEM, Led s 7
60,0003+ 123 720
0.H=CHH elZ3 M& 400&*2,5005 1,000
O2d=4 5,180
0.5HAASIAS BASY
70,000&*3221%23] 4,480
0. A=A &= 70,000&*521x23| 700
O=gHl(s3dRE=) 7,0003*621x70 2,940
03 A2 G| 4,500 1,500 3,000
OB S ME AL 1,500,000& 1,500
O=sZEMgnts &gsl &4 3,000,000& 3,000
202 o4t 14,400 14,400 0
01 WA 14,400 14,400 0
O3RN 200,000 &+621x 122 14,400
203 R=&H| 4,000 5,000 A1,000
03 Al FRIHRFXI| 4,000 5,000 21,000
OsSMAMALRFE 4,000,000& 4,000
301 LEIEAZ 6,250 5,550 700
09 HALAHIE &S 6,250 5,550 700
O=sgolN=EA 50,000&=10¢! 500
O=ggusaA 50,0002 *10¢! 500
O=sMHENE MRE 2 2HusEA
50,000&*1521*13] 750
OsHEMES20E AIRE ¥ clHUs
50,0002 *1521%23] 1,500
ONsHELS USEH 50,0002 *30E »23| 3,000
=NV =T el DA L 29,424 29,424 0
| 29,424
101 @1244| 27,411 27,411 0
| 27,411
04 I H22NSES 27,411 27,411 0
O=sRXIOISA AR 2124d| 27,411,000& 27,411
| 27,411
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SN SEND
BE: SESTSH Y FYoHH
9l SQIIASEM U MBOIFKI (Sr9): 1)
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
201 Yt 2,013 2,013 0
p] 2,013
01 AF= 22l 2,013 2,013 0
OArR2IH| 2,013,0002 2,013
g 2,013
SII=20(XI 24,008 48,195 £24,097
= 4,253
2 19,845
301 Y23 24,008 48,195 £24,097
= 4,253
2 19,845
01 ABIEEESGE 24,008 48,19 N24,097
OSIIELUIXIAAY 2,677,508 * 9% 24,008
= 4,253
2 19,845
SQOIRHABIRS 360,360 360,360 0
301 YA 360,360 360,360 0
02 FESLENZ 360,360 360,360 0
OSOIRHAS R 2RI 360,360,002 360,360
SOOI H B2 I 256,000 256,000 0
= 56,000
2 200,000
301 YA 256,000 256,000 0
= 56,000
2 200,000
IBIEERS 256,000 256,000 0
Os oI BRIZ 256,000,0002 256,000
= 56,000
2 200,000
=M=ETE0IS 90,000 38,000 52,000
X 70,000
= 6,000
2 14,000
402 RIHRH=0IH 90,000 38,000 52,000
X 70,000
= 6,000
2 14,000
01 ST EAREE 90,000 38,000 52,000
OSEMELSASRIA(10H4)
90,000, 0002 90,000
X 70,000
= 6,000
2 14,000
S ASEIIAIRINE 1,500,000 1,500,000 0
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SN SEMD
BE: SESTSH Y FYoHH
CH9l: SQIIASHM U MBOIEK| (erl: &g
- < - PSEL ~
SA - F . CR(BH) - HRAY - BES Ofl At Gl Arod C[ImE==T]
402 2I2EXHE01 M 1,500,000 1,500,000 0
01 IZEAEAMSE X 1,500,000 1,500,000 0
O=HASEUHAI 5,000, 000& 3007+ 1,500,000
SEMES20E SEAY 128,224 100,800 27,424
= 65,740
= 18,922
i 43,562
307 QI2to| ™ 128,224 100,800 27,424
= 65,740
& 18,922
i 43,562
02 QIZHHAAMNHES 128,224 100,800 27,424
O=ENEISAREH
1,200,000 +8H 128 115,200
= 57,600
= 17,280
i 40,320
OSEXNSRYUS INAZAS X2
224,000 *21H 4,704
= 2,940
= 706
s 1,058
OsEMEEL0IS HEIIUN
640,000 * 1300 A 8,320
= 5,200
< 936
i 2,184
FN=sHAGNURE =KX 40,000 40,000 0
& 25,000
= 15,000
307 212+0/ 40,000 40,000 0
= 25,000
i 15,000
02 QIZHAAANHES 40,000 40,000 0
O D=AAAN B DS
2,000,000&*20H 40,000
< 25,000
= 15,000
HSEXFA 36,000 36,000 0
= 10,125
i 25,875
402 QI RHE0IA 36,000 36,000 0
& 10,125
= 25,875
0T SRIEAIEE 3,000 36,000 0
OASHEARIAAY 4,000,002 92 36,000
= 10,125
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SN SEMD
BE: SESTSH Y FYoHH
9l SUIASEM) U MBS (Sr9): 1)
3 MNEST -
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
‘ = 25,875
Hes(dn=s)8HEASIS 16,000 0 16,000
= 8,000
fia 8,000
201 Yty 10,000 0 0,000
2 5,000
i 5,000
01 At22teld| 10,000 0 10,000
O g3 |=zus 10,000
0 ZAE 500,000& 63l 3,000
= 1,500
A 1,500
0 Wbl 1,000, 000& 63! 6,000
2 3,000
i 3,000
0 gxt=z 500,000 *2CH 1,000
= 500
i 500
307 B12t0I& 6,000 0 6,000
= 3,000
2 3,000
02 SIFE SN EE 6,000 0 6,000
O HsHZALT 6,000, 0002 6,000
= 3,000
i 3,000
Hes =2 H| X1~ ALY 45,000 30,000 15,000
402 2I2EXHE01 M 45,000 30,000 15,000
0T SIEAIEE 45,000 30,000 15,000
OASHES SIh=e 4210 KA
3,000,000&*15% 45,000
HsEsHI XA 80,640 80,640 0
201 24| 640 640 0
03 HAH2EH| 640 640 0
O8==2 N 120,000 *3H 360
O=2 tHH M 140,000 2K 280
402 RIHRHZ01H 80,000 80,000 0
01 SITIEAR SR 80,000 80,000 0
OASUSSEEAZ A 4,000,000&*20H 80,000
sHI| ISEs S4AY 40,800 40,800 0
= 7,107
i 33,693
307 21240/ 40,800 40,800 0
= 7,107
i 33,693
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2A:
I‘iiH:
e

0
40
]
0

S - ZB . CRI(EI) - HIRAY - BES

=
12

Sl

[ T

ol&rey

HIWES

0

=
OsHIINIS2S3A! (2400 ~)
1,700,000 +24 )4 A

A

40,800

40,800

7,107
33,693

40,800

sttEdx)] & N2dsSAE A

1,000,000

1,000,000

1,000,000

1,000,000

O &&ASAHXRI| L M2HEAIL X
1,000, 000,000&

1,000,000

1,000,000

1,000,000

M H =

700,000

500,000
80,000
120,000

700,000

M H A

700,000

500,000
80,000
120,000

700,000

O AEYSTI| YUY AL F4

(i)

700,000,000&

M

700,000

700,000
500,000

80,000
120,000

700,000

HH W

3,972

1,986
596
1,390

3,972

M

3,972

1,986
596
1,390

3,972

O =s&22 NHAHE WS 3,972,000

H A

3,972

3,972
1,986

596
1,390

3,972

H

109,500

98,000
11,500

109,500

101 21244

N

19,200
19,200

19,200

04 D122 XS E
O o1Ad| 1,600,000 128

Xl

19,200

19,200
19,200

19,200

38,300

38,300
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SN sEND
BE: SESTSH Y FYoHH
ol SAQIASEN o MEOIHXN (=EEE))
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
N 38,300
01 AFR22lt] 32,300 0 32,300
O A2 1,000,000 122 12,000
X 12,000
O E22 HX(33) 10,300,002 10,300
X 10,300
O oHEEHl Xig 10,000, 0002 10,000
X 10,000
02 ZZ2YH| 6,000 0 6,000
O 2283 500,002+ 122 6,000
x| 6,000
202 it 2,000 0 2,000
X 2,000
ENKE] 2,000 0 2,000
O eI2iMEl 29 ol 2,000,002 2,000
x| 2,000
207 SNy 50,000 0 50,000
X 38,500
2 11,500
01 RS ] 50,000 0 50,000
O IEDS A2 AR 50,000,002 50,000
X 38,500
2 11,500
B ASASHUSAALSHH 2,357,747 1,844,326 513,421
= 19,197
| 38,100
& 260,219
2 2,040,231
EEEEGE 608,480 629,001 220,521
201 Er2Y| 5,360 7,761 £2,401
01 AFR22lt] 2,460 3,360 A900
OS2I YSYYREX)
7,0002 421704 1,960
OEIEIER=1] 500
0HESFDEND MF 1,00020%500% 500
03 B AL2 Y| 2,900 2,000 90
OHBZANAT &I} 2,000,002 2,000
OsZL2SI| H0IK S 3,00021x3002! 90
202 01t 11,600 9,600 2,000
NENKE] 9,600 9,600 0
OHHFSHADLHOM|  200,0002x401%128) 9,600
04 2731018 2,000 0 2,000
O ZBB=AQ FHeIol% BOIoH]
2,000,002+ 12! 2,000
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SN =EADY
Y SE=TISE U F0H
S HEASASHUSAULST (9l @)
S - - BREH) - MRAR - BaS of vt o HI DS
301 Le2L=s 239,520 323,640 N84, 120
06 212to1=2| (i 15,000 0 15,000
O zed=sgel ol
2,000,000 152 +50% 15,000
09 BAAHI24S 1,500 1,500 0
Oredsgedus 4248 50,0002+300! 1,500
11 JIEt2a= 223,020 322,140 A99,120
Oozleadeiss=+=2 N
354,000 900 I++70% 223,020
402 QI2tXH=01H 352,000 288,000 64,000
01 2IZEAHEAEE X 352,000 288,000 64,000
Ozl elESsIt XA 200,0002 *190ha 38,000
OzladelssIt RLEHINIZ 290,000,000 290,000
O zed NSt A5)| NE
3,000,000 & 10CH*80% 24,000
NSEN MAMXZ 759,500 556,100 203,400
201 deL=2 | 1,200 1,200 0
01 AtR2t2|H 1,200 1,200 0
OLSZE it FOIZ0I 6,000 2005 1,200
301 Let2d=s 4,900 4,900 0
09 BAAHI2HS 4,900 4,900 0
O2 MMl nSEA L4 10,0002 +602! 600
Otdgls = & SYuUSEHS  65,0002+500! 3,250
OsHFE A D4 35,0003 302! 1,050
307 gzl 5,000 5,000 0
04 QIZFHAIAIIE XL 5,000 5,000 0
OLNZTEA MHAKIE SMAIEE 5,000
0 OS0! =H 12]%5,000,000& 5,000
402 BIZEAH=01H 748,400 545,000 203,400
01 QIZEAEAIEE X 748,400 545,000 203,400
OulldI = A2l & X 5,000,000 *19H24x 5,000
ORHLAESSXIH 4,000ha*206, 5003 *90% 743,400
H S2& £1 75,110 106,800 231,690
& 21,460
= 53,650
402 212HX=01H 75,110 106,800 A31,690
= 21,460
= 53,650
01 2IZEAEAIEE X 75,110 106,800 A31,690
OH SRELIIAMY K&
107,300, 0002 * 190 2+70% 75,110
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SN sEND
BE: SE=TSH U FYoHH
Sol: HEASASHUSALSRH (=EEE))
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
= 27, 260
2 53,650
SUOIHASZINI 11,328 16,000 N4,672
= 4,248
2 7,080
402 RIRER=01H 11,328 16,000 ~4,672
= 4,248
2 7,080
01 BRIIEAIEEE 11,328 16,000 ~4,672
OSAFABIUINIZ 40, 0002x354H| ExB0% 11,328
= 4,248
2 7,080
RS TEETINE 81,000 75,000 6,000
402 DI2EXFR0| & 81,000 75,000 6,000
01 BRIIEAIEEE 81,000 75,000 6,000
OXBASTM(SBONKA  600hax135,0002 81,000
S N 120,000 120,000 0
402 DI2EXH=0| & 120,000 120,000 0
01 BRITIEAIEER 120,000 120,000 0
OYHS SKTHRIRAR 2,405 71+50,0002 120,000
UM AK|2 42,000 31,500 10,500
01 LBFAS 30,000 24,000 6,000
1 oIE=aa 30,000 24,000 6,000
OLMAEHTT RN 10,0002+3, 0002 30,000
402 DI2EXF=0| & 12,000 7,500 4,500
01 BRITIZAIEE R 2,000 7,500 4,500
O2IY IILSBEAY
100ha* 150, 00024 +80% 12,000
NEESPON =TS E Y 48,000 60,000 212,000
= 18,000
2 30,000
402 DI2EXF=0| & 48,000 60,000 212,000
= 18,000
2 30,000
01 BRITIZAIEEE 48,000 60,000 A12,000
ODBIMMNCXES  750,0002+80nax60% 48,000
= 18,000
2 30,000
FEESTERY 17,080 77,000 59,920
= 5,124
2 11,956
402 DIEXHZ0I & 17,080 77,000 759,920
= 5,124
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SN SEMD
BE: SE=TSH U FYoHH
S9l: ABASASHUSOILSHH (erl: &g
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
= 11,956
01 QIFEMHEE 17,080 77,000 259,920
OHgiE3s2Hbl 35,0002 *488ha 17,080
= 5,124
2 11,956
EERT S ESESPNE==YN 27,425 27,425 0
= 19,197
i 8,228
301 et2a=g 27,425 27,425 0
= 19,197
i 8,228
11 JIEt243 27,425 27,425 0
OZ2AEXXZNI(18.%na) 27,424,010 27,425
2 19,197
i 8,228
ESSUMESAEEHAES 84,524 39,000 45,524
= 42,262
= 42,262
301 Let2a=g 84,524 39,000 45,524
& 42,262
= 42,262
11 IIEr2 &3 84,504 39,000 45,524
OESSHSHERAR(42ha) 84,524,002 84,504
= 42,262
= 42,262
golls RelgsLHdl X 80,000 40,000 40,000
< 24,000
= 56,000
402 212tXH201H 80,000 40,000 40,000
= 24,000
2 56,000
01 2IZEA=AMEE X 80,000 40,000 40,000
O giiE LoISTYHY| N
800ha*100,000& 80,000
= 24,000
= 56,000
2 Hols LMl ASXL 35,000 35,000 0
402 2I2ERH201 M 35,000 35,000 0
01 BIZEA=EAMEE X 35,000 35,000 0
O S2 gz Xl ASN
1,000ha*35,000& 35,000
S8 fod)| 2gdl X 140,000 0 140,000
& 60,000
2 80,000
402 212EXH201H 140,000 0 140,000
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SN SEND
BE: SE=TSH U FYoHH
Sol: HEASASHUSALSRH (Sr9): 1)
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
= 80,000
2 80,000
01 SIIEAEES 40,000 0 140,000
Osotam 2018)| 2e
200,000,000 +1CH+70% 140,000
= 60,000
2 80,000
JlIS& THHHER i 190,200 0 190,200
= 85,125
2 105,075
402 RIZR=0|H 190,200 0 190,200
= 85,125
2 105,075
01 ST REARER 190,200 0 190,200
O JISaY TSR F4
750,0002!133ha=80% 79,800
= 29,925
2 49,875
O YsI5 AFSIH QTR PSR (XDI4
SETTAIZA) 138,000, 00024 80% 110,400
= 55,200
2 55,200
IHSHETNSR AZHS20F A 38,100 0 38, 100
| 38,100
201 Yty 5,700 0 5,700
| 5,700
01 AF= 2] 5,700 0 5,700
O DIHSHAER ASRS AARIE 2
52+100,0002 11524 5,500
| 5,500
Ogsr2gy| 200,00024 200
| 200
202 01t 2,400 0 2,400
| 2,400
01 =LHOIH| 2,400 0 2,400
O ISR AZEES oyl
102420, 00021+ 122 2,400
| 2,400
301 Yurs A3 30,000 0 30,000
| 30,000
1 oE2aa 30,000 0 30,000
O DHSHNTRSR AYHS A
30,000, 0002 30,000
| 30,000
EETSEVEITSSPNEEE 8,702,299 7,559,774 1,142,525
2 7,033,695
= 171,135
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S SEMD
Y SE=TISE U F0H
ol FSASASHU=AASHH (=ECR-E))
SA - FHM .S (BH) - HRAY - BES Ol ko o H D=2
= 1,497,469
TESZsHHEXNEAMNS 188,667 227,009 A38,342
= 188,667
301 LEIEAZ 188,667 227,009 A38,342
= 188,667
11 J|Et2 432 188,667 227,009 A38,342
OrlstEsH AT RS A 188,667,000& 188,667
= 188,667
AR ST AL 2 32,000 33,235 1,235
= 32,000
201 LBeH2Z| 15,200 21,235 AN6,035
= 15,200
01 AtR2telt| 15,200 21,235 26,035
ORASHER MARISI2Y 2 sty
| 15,200,000& 15,200
= 15,200
202 O4b| 16,800 12,000 4,800
= 16,800
01 =LHOAHI 16,800 12,000 4,800
OBASEMAZN 0| 702%20,000&*12% 16,800
= 16,800
MASESENEZN 5,000,000 3,520,000 1,480,000
= 5,000,000
301 LB AZ 5,000,000 3,520,000 1,480,000
= 5,000,000
11 J|IEt2 43 5,000,000 3,520,000 1,480,000
O/ ASSEMAEH(5,000na)
5,000ha*1,000,000& 5,000,000
= 5,000,000
A= HESHAE 219,350 188,019 31,331
= 175,480
= 43,870
301 LB A= 219,350 180,000 39,350
= 175,480
= 43,870
11 JIEt2 43 219,350 180,000 39,350
OZAHZelXNAXZM At (43%ha)
219,350,000& 219,350
= 175,480
= 43,870
EQMH32 656,365 510,125 146,240
= 459,456
= 196,909
402 2IRHAHE0IA 656,365 510,125 146,240
= 459,456
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A SEAD
B SE=NEE Y PY0H
9l FABASAIHUSIASHH (249l HR)
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH Ol] AkoH Hws2
= 196, 909
EEDEENEEES 656,365 510,125 146,240
OELMZRINIZ AL 656,365, 00024 656,365
2 459,456
2 196,909
B ETERNERE 1,909,505 2,019,125 109,530
2 945,578
= 78,501
2 885,516
402 BIZHTHE0| 1,909,505 2,019,125 109,530
2 945,578
= 78,501
2 885,516
01 DIRIZAIIEE 1,909,505 2,019,125 109,530
OSIIZHI 2N A 1,909,595,0002 1,909,505
2 945,578
= 78,501
2 885,516
22/ LMK AL 43,200 28,800 14,400
= 16,200
2 27,000
402 BIZHTHE0|A 43,200 28,800 14,400
= 16,200
2 27,000
EEDEENEEES 43,200 28,800 14,400
OS2US LTI A 150ha=360, 0002 +80% 43,200
= 16,200
2 27,000
A=A H BT P2 2,880 2,880 0
= 576
- 2,304
201 LBr2 | 2,880 2,880 0
& 576
= 2,304
01 AR 22l 2,880 2,880 0
OEASATBARZ  302+8,00020 1242 2,880
& 576
= 2,304
DM THHHE K E S ALY 25,200 25,200 0
= 10,800
2 14,400
402 DI2ERIZ0I A 25,200 25,200 0
= 10,800
2 14,400
01 DIRIEAI % 25,200 25,200 0
OZMATUSKIZAAR. 36,000, 000270% 25,200
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SN sEND
Hu: SESNEE U FHOH
Sol: HEASASHUSALSRH (E491: &)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
= 70,800
2 14,400
ASAMEH S HFAHLEE 29 20,000 20,000 0
= 10,000
2 10,000
201 Br2Y| 20,000 20,000 0
= 10,000
2 10,000
01 AFR22IH] 20,000 20,000 0
OHBAMESY SFFALYT 2
20,000,002 20,000
= 10,000
2 10,000
B SRAX DA XA 45,000 58,000 213,000
402 RI2HRHRO0I 45,000 58,000 A13,000
01 BRIIEAIEEE 45,000 58,000 A13,000
O HERAT DA X
90,0007H+1,00024%50% 45,000
S AXIZR| 188, 162 167,865 297
= 188, 162
202 01t 2,100 1,803 297
2 2,100
01 =UHoiH 2,100 1,803 297
OZRZHZEE Oyl 2,100,002 2,100
2 2,100
301 LB FAS 186,062 186,062 0
= 186,062
1 olE=aa 186,062 186,062 0
OgsAXI 2 ARl (238ha) 186,062, 0002 186,062
= 186,062
EUWSH BSAE A 39,000 58,635 A19,635
402 QIRHXHROI 39,000 58,635 A19,635
01 PRITIZAI R R 39,000 58,635 19,635
OEUNSH SSHT A
130, 000 ZL*50021460% 39,000
SIS AT AR 110,880 0 10,880
= 44,352
= 19,058
2 47,470
402 QIZHRHR0| 110,880 0 10,880
= 44,352
= 19,058
2 47,470
01 BRIIEAIEEE 110,880 0 110,880
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SN SEMD
BE: SE=TSH U FYoHH
S9l: ABASASHUSOILSHH (erl: &g
3 _ _ MNEST
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
SR RNERE!
132ha*1,680, 000& *50% 110,880
= 44,352
= 19,058
= 47,470
20152016 IISZE SJHEREDE AL 135,000 0 135,000
402 2I2ERH201 M 135,000 0 135,000
01 BIZEA=AMEE X 135,000 0 135,000
ODIE3S SI2BEDLR N
150,000,000 * 17 2=%90% 135,000
212 SR HE 51,000 0 51,000
402 2I2EXH201 M 51,000 0 51,000
01 2IZEAEAMEE X 51,000 0 51,000
Oanl sRkE AE 17,000,000 *6IH 2~+50% 51,000
2I=e HE=It IBRENAAY 3,000 0 36,000
= 36,000
402 2I2EXHE01 A 36,000 0 36,000
& 36,000
01 2IZEA=AMEE X 36,000 0 36,000
OSIlse HEs)l IRSENAY
36,000,000& 36,000
& 36,000
ALY A} 2,630 2,780 A150
= 2,630
Q=2 XI& 2,630 2,780 A150
= 2,630
201 LBt2EH| 1,052 1,176 A124
2 1,062
01 At22teld| 1,052 1,176 A124
Oggt=2H| 10&%105,200& 1,052
= 1,052
202 Oid| 1,578 1,604 A26
= 1,578
01 =LHOIH| 1,578 1,604 A2
OLFYUR =X 789,000& %201 1,578
= 1,578
GAP(RsitE) 2elNE2Y 29,525 11,875 17,650
= 7,127
= 6,719
= 15,679
AP (Ras=dig) 22l s 29,525 11,875 17,650
2 7,127
= 6,719
2 16,679
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SN SEMD
B SESTEH U HY0HY
Sl GP(RAEAE) BRlHE 2 (erl: &g
. , - PSEL= =
SA - F . CR(BH) - HRAY - BES ofl by Gl Arod C[ImE==T]
307 BI2+0I& 29,525 11,875 17,650
= 7,127
= 6,719
= 15,679
02 QIZHHAAMNHES 29,525 11,875 17,650
OGP OIZ442 19,343,002 19,343
= 5,803
= 13,540
Ost2 S422IHT(GP) S 2| X
10, 182,000& 10,182
= 7,127
= 916
2 2,139
S22 84,600 63,000 21,600
SsBaicae|sd 84,600 63,000 21,600
SSEHE EZE0PIE 23t 84,600 63,000 21,600
201 B2 Y| 84,600 63,000 21,600
01 AtS2teld 82,500 60,900 21,600
OZSZUC 2LOPIL(HAZE)
90CH70, 00024122 75,600
OZBsEHE AOZRL oM 23*300,000& 600
O2SEdENE 2AY 23]*300,000& 600
OBSSUSHR| AoI2|5|4Y
501%23]*70,000& 700
OUAZZH BASEE WA 5,000,000& 5,000
02 =22 2,100 2,100 0
ORELUE BV ®IIQD {28+50,0002 600
OZsEdE 2 gljzel 12&%125,000& 1,500
N 4,692,314 1,183,250 3,500,064
= 63,277
| 1,500,000
= 1,119,565
fiis 2,009,472
NS 2e2E 3,649,294 491,050 3,158,244
2 63,277
| 1,500,000
& 762,655
i 1,323,362
s . SHE HY 2SAY 28 522,740 491,050 31,690
201 B2 62,340 65,550 23,210
01 AtS2teld 23,460 20,670 2,790
OsSH2 221 M 4,00004+2, 0002 8,000
OsSke SBE &It AT X
1,0000H*1,500& 1,500
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SA: sEA
Hu: 2s0% F4 U 22
o9l RSN BRISY (Er9l: &8
S - I BR(3) - AIRAR - BaS oty e ezl
OsJt 0BIE W= 1,000, 000&*22 2,000
OSgHl(FS+282 =)
7,0003 42170 1,960
OsS&E =5XE A 10CH+1,000,000& 10,000
02 5= 2,880 2,880 0
OsStE 828 Z18 &)Ik=s
24 2x122%120,000& 2,880
03 &A= 36,000 42,000 26,000
Ofeeldd sSttz =gzl ot
20,000,000 20,000
O=s1F Y AHIXEH =HEAL
72]%1,000,000& 7,000
OUEAlStE SEHRUAL 12]%5,000,000& 5,000
OHf=E S22 &AL 200,000 *203] 4,000
202 O 14,100 9,200 4,900
01 =LHAHI 14,100 9,200 4,900
ORS=£ 28 0l 491x128%200,000& 9,600
OsStt2 &5 & HAdEH 284 0l
3@*10%*150,OOO?_J 4,500
301 et = 6,800 6,800 0
09 BAAHI24S 6,800 6,800 0
OsSH2 B2 U SHEA &4
4021%70,000& 2,800
OS=SHE BRNE o stats| &A
4,000,000 4,000
307 glztol 5,500 5,500 0
04 QIZFHAIAIIE X 5,500 5,500 0
OBZIHEE <Ist AHIAEHM &2
1108 S8%500,000& 5,500
402 212tX=01E 434,000 404,000 30,000
01 2IZEAEAEE & 434,000 404,000 30,000
OZSEHE ZHEAMEXIRAA
300,000,000 300,000
OZIgZ EibiH| XIJAY 20,000,000 20,000
OLHEHISEI 14 TSI X3 A 7,000,000 7,000
ORM=S4&E5 TS N2 7,000,000 7,000
OS3HI=0] WS X2AA 50,000,000 50,000
OASJ|8 CstAlg =& 50,000,000 50,000
SHUEMXSSHE (APC)HE X 3,000,000 0 3,000,000
Il 1,500,000
= 750,000
= 750,000
402 212HX=01H 3,000,000 0 3,000,000
Il 1,500,000
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2A:
I‘iiH:
Che|:

P
0x

=
]
[af]

Al

30 30 O
O O
i
[0 X &

>

=
e
i
o
H0
02

0
0
[l
0

A - FH - GR(3H) - NRAY - BES

=
12

HE

[yl

ol&rey

HIWES

0

M H

750,000
750,000

ES
SHE(APC)AE I
3,000,000,000&

S

M

3,000,000

3,000,000
1,500,000
750,000
750,000

3,000,000

M

126,554

63,277
12,655
50,622

126,554

M

126,554

63,277
12,655
50,622

126,554

66,554 ,000&

60,000,000

H W

H W

126,554

66,554
33,277

6,655
26,622
60,000
30,000

6,000
24,000

126,554

M H

347,420

156,110
191,310

602,200

A254,780

M H

176,000

70,400
105,600

265,000

/89,000

M H

176,000

70,400
105,600

265,000

89,000

S 171,000,000&

O
O
Jz
ol
o
A
44
I
el
HH
for
=
1K

1IH2=+5,000,000&

M H

M

176,000

171,000

68,400
102,600

5,000
2,000
3,000

265,000

289,000

sERSAE EX

M H

171,420

85,710
85,710

274,200

A102,780

M H

171,420

85,710
85,710

274,200

A102,780
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SA: SEMT
M QECH] XM U 22
©elr SAE IS4 8dst (e ®d)
- _ _ po[E e
SA - ZH - SR(3H) - HIRAY - BaS ofl e e HlRE2
01 RIZEAEAMSEE 171,420 274,200 A102,780
OL712 RSAIE EXIAE
51 A*34,284,000& 171,420
& 85,710
= 85,710
ddsatE =X 695,600 90,000 605,600
& 200,800
= 494,800
=E&=Jt A8 RI& 100,000 66,000 34,000
& 50,000
= 50,000
402 QIZERHE0| A 100,000 66,000 34,000
& 50,000
= 50,000
01 QIZEA=2AMEE X 100,000 66,000 34,000
O===gHX AIgE& 100,000,000& 100,000
& 50,000
= 50,000
stz N 150,000 12,000 138,000
& 150,000
301 LEBAS 150,000 12,000 138,000
& 150,000
11 IIEtEA3 150,000 12,000 138,000
O stEx&s)t HAMLZ KA
150,000,000& 150,000
& 150,000
tdsitE =& 3KE 220,000 0 220,000
301 LEBAS 220,000 0 220,000
11 JIEt2 43 220,000 0 220,000
Ot =saE =&8d3 N 220,000,000& 220,000
ShtE OHME ALY E8 1,600 0 1,600
& 800
o 800
201 LEH2 | 1,600 0 1,600
& 800
i 800
01 At22teld| 1,600 0 1,600
O =sdt=2 oHHY DALY g2 1,600,000 1,600
& 800
o 800
== 843 XN 224,000 0 224,000
201 Ler2Zh| 16,000 0 16,000
01 At22teld| 6,000 0 6,000
O x==2d s28= X 5,000&*1,000% 5,000
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SN SEAD
Ha: REC I8 o e
el AMEAE SEXI EEETEEY
. - - PSEL= =
A - 3 HA(ZH) - HRAY - BES Ofl &tk Ol] AkoH HwsZ
O %2 B=gA 42 72 1,000,0002+13] 1,000
03 A2 10,000 0 0,000
O HANZHH (B4 B
5.,000,00024+23] 10,000
202 04t 4,000 0 4,000
CEFIECICR] 4,000 0 4,000
O +&4Es &t 2,000,00024+2%+13] 4,000
01 YsBAZ 4,000 0 4,000
06 SIZHI= 2l Gi] 4,000 0 4,000
O +E43| &K N
2,000, 0002442 +131+50% 4,000
402 BIRIRH=0IH 200,000 0 200,000
01 S TEARER 200,000 0 200,000
O +& ZZH| NA(EESTHIO 4)
20,000,002 20,000
O 45 SSME dBH(EZSRHI2 1%)
40,000,0002! 40,000
O 45 SME ASIIY T3 40,000,002 40,000
AP FRRLE YO|PEY 7.613.872 7,548,223 65,649
2 1,413,391
X 430,000
| 789,113
= 824,256
2 4,157,112
=N2 ZN L3 1,158,750 816.675 342,075
2 155,000
9] 43,850
= 46,93
2 912,955
EEISEY 99,040 99,012 28
= 17,520
2 81,520
307 S12H01 & 8,000 8,000 0
= 3,200
2 4,800
02 BRIFAAEEE 8.000 8,000 0
OBI2X0l DS W& Eots0t HoiZ N2
60,0002 +505 8,000
= 3,200
2 4,800
402 BIRIRHZ0IH 91,040 91,012 28
= 14,320
2 76,720
01 UUREAES 91,040 91,012 2
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SA: sEA
B XS HEEANS MADIBEY
ol ZAr2 AW s (=ECR-E))
S - I BR(3) - AIRAR - BaS oty e ezl
OBtRAHNAISHIXIZ AL
30,000&*1,0005*50% 15,000
= 1,800
= 13,200
Ot SEAE 6,000&+10,3005 61,800
[ 5,400
s 56,400

14,240,000& 14,240
7,120
7,120

M H

StusaSA KR AR 73,100 64,600 8,500

43,860
10,965
18,275

S

M H

402 BIH =01 73,100 64,600 8,500

43,860
10,965
18,275

S

Ml H

82X 73,100 64,600 8,500

A
Ot ueKRSAXE A 73,100,000 73,100
43,860
10,965
18,275

S

M

HAMAIY 34,560 34,560 0

10,950
23,610

M H

402 RIF =01 34,560 34,560 0

10,950
23,610

M H1

01 2= AMEE X 34,560 34,560 0

K3 24,000, 0003 x2H+50% 24,000
9,000
15,000

O

ORLTSHATAY (RSS2

10,560,000 10,560
= 1,950
= 8,610
ZAAS A (XH) 625,050 446,503 178,547
402 BIRIXH=01 & 625,050 446,503 178,547
01 QIZFRIEAIIEE 625,060 446,503 178,547
OB 0L A AOHE RI X & ALY
20,00024+2, 0005+50% 20,000
OB FAI 50,0002+6, 0005 *20% 60,000
OTIRAIE. 7t 2HAI 170,000,0002 170,000
O1SSHUX ALY 10, 0002459, 600F+50% 48,000
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SA: sEA
B XS HEEANS MADIBEY
Chel: BA2 e s LR
LI BR(3) - AIRAR - BaS oty e ezl
OLSsIt S2ME KA
7,500 *21,000kg*50% 78,750
OEELITHAI A 5002 %200, 0000H*50% 50,000
OgE 2A £48 X
80,000 240 =23 +50% 9,600
OESsIt 5 24 NEAY
400, 0003 *30=*50% 6,000
O0|SASUHHAIL A
2,700,000 10CH*50% 13,500
ORA 283 XA 30, 000 & #3601 +50% 14,400
O=Ast 2ol EX1 XZA
800, 000& 24 CH*50% 9,600
OsAHsIH €31 NEAE
800, 000& 24 CH*50% 9,600
OSZet MasIt Hat XIRAS
1,500 *8, 0000H*50% 6,000
OnNEE =2 4N NS olugs" X3
10,000 *2, 4004 24,000
Og=st eI EX XJAL
10,000, 0003 *4CH*50% 20,000
S A8 ASHE WHEA =4 gz
NE=! 6,000, 0002 *20hax50% 60,000
O0|ActE AlS UIE &l €X1 XI3A
3,500,000 = 10CH*50% 17,500
OUIES =0t 922 8% 248 NI
600,0002 %27 I H+50% 8,100
ELIIEAS 17,000 52,000 /35,000
= 7,500
= 9,500
402 2I2HXH=01H 17,000 52,000 /35,000
[ 7,500
o 9,500
01 RIZEHZ2AIEE X 17,000 52,000 /35,000
OLSUENAZ0F ZAIBA 17,000
0 Sgas)t NsSAs et
5,000,000 80% 4,000
= 2,000
s 2,000
0 &L AEE 28 ditsIt SHABAIE
10,000,000 *80% 8,000
S 3,000
= 5,000
0 2l RSERI] 018 HFMASEAY
A 5,000,000 5,000
= 2,500
= 2,500
LD I=ESAMY 310,000 120,000 190,000
= 155,000
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SN SEAD
M ZEH HEIAS MADIEEA
S9 ZAZ AW s (=S RN
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH Ol] AkoH Hws2
= 755,000
402 PIH=0| A 310,000 120,000 190,000
=2 155,000
2 155,000
01 L REARIEE 310,000 120,000 190,000
O XHE Mk 4 Jls 70,000,0002 70,000
= 35,000
2 35,000
O JHEMRRITAIIE HEAY
30,000,0002! 30,000
= 15,000
2 15,000
O BEESIIEE IEMASSAAY
60,000,0002! 60,000
= 30,000
2 30,000
O Si2a2 YBAES AMSXIEY
100,000,002 100,000
=2 50,000
2 50,000
O SHHUANBRS H2HH SHHEAR F
MAr 50,000,0002 50,000
=2 25,000
2 25,000
RSN J|PEH 2,108,862 3,075,925 £972,063
p 53,810
= 241,494
7 = 1,325,558
OIHIEN ZAS ML 54,200 101,260 47,060
201 Lk | 9,760 6,460 3,300
01 AFRZ2lH] 9,160 5,960 3,200
Ooggr2 | 2,400
0. ZAAZTA 2012 014
1,0002*1,800% 1,800
0.ZMAIBEX S50 HE 50,0002+ 600
O2HI(FBBEMARET)
7,0002%401x702 1,960
oYUtz 4,800
0.ZADIXHH SEXE Ut
600, 00022 CH+23] 2,400
0. 15285 2axY ARt
600, 0002 2CH+25] 2,400
02 22294 600 500 100
OZ222 2 WA 600
0. SR SXAUIA(SIS) 23
2024%603]+500S 600
202 04| 11,600 11,600 0
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SN SEATD
o Ze HEYZAS MAD|PBEY
Sl FSFIA J|PEY (B9l =)
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
01 =0T 9,600 9,600 0
OFSYZAADAS0H| 200, 0002401+ 122 9,600
N EIE] 2,000 2,000 0
OFtHsI} sheloia &HofoLy
2,000,008+ 19! 2,000
301 LerBAZ 21,440 21,200 240
06 I2HI=2|OfH] 15,000 15,000 0
OFLHsI} oheloia 2,000,000 % 1521%50% 15,000
09 BALAHIZAE 6,440 6,200 240
OSAAIMDS Y BII3| Z424
30, 0002242123 1,440
O=4HsD} Him2ist 50, 0002410091 5,000
307 2I12t0| & 2,400 2,000 400
02 RIFFAARIEE 2,400 2,000 400
Otttz EH 22AAE 29
2,400,0008%13] 2,400
406 J|EFXH=0I & 9,000 0 9,000
01 JIEFI=0I 9,000 0 9,000
OLsMs S5S= 3,000,00084+321 9,000
SZ LA ALY 59,000 57,500 1,500
= 23,600
= 35,400
402 QI2EXH=0IH 59,000 57,500 1,500
= 23,600
= 35,400
01 BRIFEAIEE 59,000 57,500 1,500
OYBAAPEHLAIY 59,000,00094 59,000
= 23,600
= 35,400
= ATHOH AR R 173,000 97,500 75,500
= 23,000
= 150,000
402 QI2EXHE0|H 173,000 97,500 75,500
= 23,000
= 150,000
01 BIRIFEAIEE 173,000 97,500 75,500
OIIETHH S XIH AL 173,000, 0002 173,000
= 23,000
= 150,000
QINEAr Mt Bra 170,000 170,000 0
402 QIREXFE0IF 170,000 170,000 0
01 BIRIFEAIEE 170,000 170,000 0

- 587 -




SN SEAD
M ZEH HEIANS MADIEEA
CPl: WEAEM J|PEH (e =)
- _ _ PlEL=
SA - ZH . GA(SH) - HRAY - B82S Oi &K Ol] AkoH HwE2
OSIIErS MAAEAR K2 (LA
1,500,000 24*2005+50% 150,000
ORIIBLE FTAIR MAXIZ  400,000kg+502 20,000
EYEVONSIEIE S 1,505,702 1,455,100 70,602
| 536,810
= 175,544
= 813,348
402 QI2EXH=0|H 1,505,702 1,455,100 70,602
p] 536,810
& 175,544
= 813,348
01 DIIKFEAIEE 1,525,702 1,455,100 70,602
OZAtZ ML D|BHEHEEALY XI2 1,525,702
0.2THILTe 17,000,000 17,000
| 17,000
0. ABES =Xt 7 316, 142, 0002 316, 142
p] 135,510
= 48,524
= 132,108
0. ZAIZAAAIR AFLRIXIRIZH]
1,044,000,0002 1,044,000
y] 348,000
= 118,320
= 577,680
0.ZAIRE MATHIXR(ZSH)
145,200, 0002 145,200
| 3,300
= 7,260
= 101,640
0 SAIASEZ AN
600, 0002 *BLH*70% 3,360
= 1,440
- 1,920
WENNTIEYE 60,960 45,600 15,360
= 19,350
= 41,610
307 21240/ A 60,960 45,600 15,360
= 19,350
= 41,610
02 DAIBAAHEE 60,960 45,600 15,360
OOt A5 XA 30,960,00024 30,960
= 19,350
= 11,610
OO DT XA
400,00021*15021%50% 30,000
DEAAF LAY 30,000 30,000 0
402 PI2EXH=0| & 30,000 30,000 0
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N sS4t
B ZSH HEENS MAD|UEA
ol FIBABM J|PEA (=ECR-E))
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
01 RIZEAEAMSEE 30,000 30,000 0
OstU2SMA AlE XI2AEAS
20,000, 0002 *3IH 2 *50% 30,000
=4 L= @A XA 31,000 25,000 6,000
307 QI2to1& 31,000 25,000 6,000
04 DIZHHAIAIE E X 31,000 25,000 6,000
O ZLHEA EOIAL XA 7,000,000& 7,000
O pHlE M ALK 2,000,000 2,000
O SAILHS SCHEA XIR 22,000
0 JIIEHAIEH S0>A X2 15,000,000& 15,000
0 20S HAIU2 SOHEAF K&
7,000,000& 7,000
e AR 28 2 2l 1,625,731 980,805 644,926
= 500,000
Xl 430,000
& 186,000
= 509,731
UH-HESLESHHZE=S 30,231 26,805 3,426
101 @I1244| 18,471 17,005 1,466
04 JIZtHI2 2R S 2+ 18,471 17,005 1,466
O280HzHER 12| 18,471
0.21244] 44,640 *1.5%221% 120 16,071
0.828x 1,200,000& #2¢Q! 2,400
201 22| 8,160 6,800 1,360
01 At22teld| 6,000 5,000 1,000
Ogt=2H| 4,000
0.280Z 2X K2 oM
1,000&*1,0005 1,000
0.280Z 32X =% HE 50,000 *20& 1,000
0.280=Z = &Hl & 2,000,000& 2,000
OYxts 2,000
0.24378 X 2EXE Xt
250,000 & *2CH*43] 2,000
02 2223l 2,160 1,800 360
O280ztHs R0 36,0002 x60 2,160
301 LEIBAS 3,600 3,000 600
09 SAtAHIEAZ 2,400 2,000 400
OL==E XHYF At A2 4
10,0002 *x2421%103] 2,400
11 J|IEt2 43 1,200 1,000 200
OS2 & A1 & =HEH
50,000 *123] 600
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SN SEND
BE: WEY HYENS MAD(BIEY
SE HNTENS O (ETE T (cro): @)
3 MNEST -
A - BH - HA(SH) - MRAY - BES Ol &FoH 01l AroH HuESZ
OXAr= AAIEAl SIoral D S
50,0002+ 123l 600
SAERYER 130,000 96,000 34,000
Xl 130,000
206 M= 4| 130,000 96,000 34,000
Xl 130,000
TEE] 130,000 96,000 34,000
OE=0 XIH=(1,000&01) 130,000,000& 130,000
Xl 130,000
20 srst X 129,500 130,000 A500
201 24| 9,500 5,000 4,500
01 At22teld| 9,500 5,000 4,500
OAltz SXEH] HHIXt 5,000,000& 5,000
O201%Al 22 JH0IES HIZ(3=,2=)
1,500&*3,0005 4,500
206 M=t 120,000 100,000 20,000
01 =4l 120,000 100,000 20,000
o203 XHg= 120,000, 000& 120,000
LH=HHSMAAIE = 336,000 728,000 A392,000
Xl 300,000
= 3,000
402 RI2EXHE01 ™ 336,000 728,000 A392,000
Xl 300,000
& 36,000
01 2IZEAEAMSE X 336,000 728,000 /392,000
0201 HE YAE AL KA
336,000,002 33,000
X 300,000
= 36,000
=8 HE JHE= 1,000,000 0 1,000,000
= 500,000
= 150,000
= 350,000
401 AIEHIZL 2| 6,300 0 6,300
08 AIE=CHE] 6,300 0 6,300
OU«B Ol M=+ SOl
1,000,000, 00021+0.63% 6,300
403 NXIHMEA=Z01& 993,700 0 993,700
= 500,000
& 150,000
i 343,700
02 ZIIHSHHETHE AR 993,700 0 993,700
OUi481 0= D4 993,700,002 993,700
= 500,000
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N sS4t
B FSH HEEMNS MAD|UEA
Sl =S A0 24 2 2] (e ®d)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
= 150,000
= 343,700
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